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I 2x mwn:»"ary —if a cow expels a clump of blood, it must be buried and she is now exempt from n12
a  &7n 77 that clump has no Rwm yin nkmMY — only buried to publicize that the mother is now nm3an 1n s
i 72 7. reason it is not Xnv (since it is, after all, a “proper 79m”) — 07 2172 Y02
1 Consistency: 3y "1: »"ar7 (here) & w™ (re: ROV in a house, ruling [contra nnan] MNY) have identical position
b tangent: T:t M5nNR — miscarriages are not Xnvn until they come out (no "ap nn>na”); however, they must have at least a
rounded head the size of a nyp9; X110 7 — nypa of yarn; 29 92 87N asked him to clarify - warp or woof? responds:
i dispute: "1 —>nw (warp); N 1 — 27Y (Woof)
ii  dissent: ¥"aR7 — must see N2V (seeing np’a within np’s, like when a mule kneels to urinate).
iii 427727 heard about 2 YW of np’, one warp the other woof, but didn’t know how to apply them
1 2077 quoted 13NV 1 who heard of 3 — those two and np’s of sack-makers — and didn’t know how to apply
2 parexplained (in 13 "7's name): a human miscarriage — 'nw Yw; animals — 17y; chunk of v1an nva-earth is
the size of large np’a of sackmakers, like the seal of 21¥1n (on barrels, underneath rounded top — np’a)
¢ “backdoor” discussion: 5" (quoting n®*w1 N> 1) — if someone buys fish-oil from n”y, he can submerge (the vessel
with oil) in mpn and it is MY “either way”:
i if itis mainly water, the npwn with mpn-water purifies the 1x
ii  if itis mainly ¥, that is not something which is vulnerable to nkmv
1 and: the small amount of Xnv water in the ¥ is nullified to the 1%
iii /27 7 this allowance is only to use 7>% to dip his bread; but to use for cooking — &nv
1  reason: the “submerged” Xnv waters are revived by the waters they encounter in the pot
2 p7 7 repeated this to »ar; who challenged — nullified nkmv does not revivify
3 retort: 2:n MmN —if a NRD of NRNY NMN fell into 100 DR of PNV PYIN
(a) 77 let the one be taken out (for nmn) and let it rot, assigning the one taken out to be the one that fell
(b) orpor: let the one be taken out and eaten as crumbs or toasted, or be kneaded into m~a ’n, or be di-
vided up among doughs n- as long as there isn’t n¥»13 in one place
(i) comment: "1 would obligate that those 100 p51n be eaten as crumbs, toasted etc.
(if) a5 reason — so that he won’t bring ap of xnv PN from elsewhere and another 1p+ from here,
thinking that that nullifies it; but due to the ynwn, we have nrmo-revivification (19" n"Rn R¥N)
4 Block (»2aK): just because nkmV can “reawaken” NRMY, does not mean that 1w would do that to nkmv
5  Further challenge (»ax): 1:0 019 - if ash of n19 gets mixed with regular ash — still xnvn
(a) But if: the majority is nYpn 19R (not 119 79R) — follow 217 and no nrmMYV
(b) Explanation: if we should consider “nullified” nkmv to still be extant, should be xwna xnon (if not yan)
(i) Answer: R1IN 7210y 1 indeed maintains that in such a case, the mix carries Xwn NRMY
6  Further challenge: n"™’s ruling - 0721 is 01 to NVINWY (but not vice-versa), as NVINY can never become NVINY
(a) Response: we learn that as being 8N "1's statement — and Xyan 92 70v '3 rules that there’s still Rwn nkmY
7 Challenge (»ax): our mwn; 8»n’7’s note that the blood-bloc has no yin nkMYL or kYN NRMYL — as 2171 HV1
(a) (noanswer): but we suggest — perhaps it is not knon as it is fetid
(i) Answer: thatis only valid for 879 72 who interprets v. 1 as n21 is no longer ®non after not 3% "X
1. But: for 13m "1 who requires even n21 to be 255 n%axn Hva) to cease NRMV — RVP
d  Revisiting j2m 71879 72 based on interpretations of v. 1
i 479725 nY21 93 W9arn &Y — only if it is fit for 7 is it called nba13
1 pnp 7 thatis only excluding a case where the n%2) was never fit for human consumption
2 N7 72 if it was never fit for consumption, no p1va needed — it is like dirt
(a) Challenge: our mwn — 0T NN has no NRMY, per Ny "7, due to 0T 217 Over ToN
(i) But: if 3Ny "7 agrees that X1p’yn NM7o is not knon, he should have used that reason
(if) Answer: this one was originally fit for consumption — as part of the mother
e X1 p7rwip "ar rules that 1% bought from n”y, it was M0 but he soaked it in water (that we assume to be xnv) and
the water was nullified against 1°% 217 — if any water fell on it — it becomes x&nv
i Implication (ppn2 77): ¥Irn "y will mix up to 50% in 1% (>any water added takes it over 50% =>xnv)
1 Rejection: perhaps 1”1 meant that they will mix up to a bit less than half
2 Or:since 0"y NRMVY is 13177, as is PPN NRMY — they weren’t 713 unless there was a 217
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